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	Implement the JAVA method "Node findMaxLeft(Node localroot)", that returns the reference to the Node containing the maximum value in the left subtree of the input Node 'localroot'. Assume the usual fields in class Node (double value, Node left, Node right).
public Node findMaxLeft(Node localroot){


	5

	A heap is always
· full

· complete

· awful

· completely useless
	1


	Give an example of a sequence of 7 numbers, which, when subsequentially added to a BST, would lead to a heavily unbalanced tree. Show the resulting BST. Take the same sequence of numbers and sort it into a HEAP.
Number sequence: 

Resulting BST
Resulting HEAP

	4


